
④  70億を　　にした数 ( )

2  次の数を書きましょう。

③  2兆4000億を　　にした数 ( )

②  8兆を　　にした数 ( )

①  350兆を　　にした数 ( )

②  526億－372億 = ④  1457兆－68兆 =

名まえ

1  次の計算をしましょう。

①  43兆＋27兆 = ③  765億＋106億 = 

15

⑮ 力だめし
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1
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1

10

1

10

1

目指せ95点！

(各20点)

(各5点)



④  70億を　　にした数 ( 7億 )

2  次の数を書きましょう。

③  2兆4000億を　　にした数 ( 2400億 )

②  8兆を　　にした数 ( 8000億 )

①  350兆を　　にした数 ( 35兆 )

6 8 兆

3 8 9 兆1 5 4 億 1

5 7 兆

－ 3 7 2 億 －

5 2 6 億 1 4

1 億

②  526億－372億 = 154億 ④  1457兆－68兆 = 1389兆

7 0 兆 8 7

億

＋ 2 7 兆 ＋ 1 0 6 億

4 3 兆 7 6 5

名まえ

1  次の計算をしましょう。

①  43兆＋27兆 = 70兆 ③  765億＋106億 = 871億

15

⑮ 力だめし 答え
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目指せ95点！

(各20点)

(各5点)
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